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Answers may vary. Sample: Reflect across the line y = 1, and then translate
the image left 6 units. (Ti—g,0y © Ry=1)(AJKL) = ALK’

A'(-6,-6), B(-3,6), C(7,7)
A'(10, 4), B(7,-8), C(-3,-9)
A'(=12,4), B(=9,16), C(1,17)
A1, 22), B(-2,10), C(-12, 9)
A(13,0), B(10,-12), C(0, -13)

Answers may vary. Sample: (T_q 3~ o Ry)(ADEF) = AD'E'F" where ris the
line x=1.

Answers may vary. Sample: (T_q - o Rt)(ADEF) = AD'E'F" where t is the
line y = 8.

Answers may vary. Sample: (T__g g~ o Rt)(ADEF) = AD'E'F' where tis the
line y = —2.

(T<—6,0> © Rx—axis) (ADEF) = AD'E'F'

(T5,0) © Rt)(<ABCD) = “A’B’C’D’, where tis the line y = 7.



